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QUESTION 1

If a company has experienced a passive attack on its IT infrastructure, how is the company\\'s security impacted? 

A. Access to services is denied. 

B. Availability of data is affected. 

C. Information privacy is compromised. 

D. Data is altered by an unauthorized user. 

Correct Answer: D 

 

QUESTION 2

Based on the exhibit, what does the "X", "Y", and "Z" represent in a NAS environment? 

A. X = FC SAN, Y = IP Network, and Z = NAS Gateway 

B. X = IP Network, Y = FC SAN, and Z = NAS Gateway 
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C. X = FC SAN, Y = NAS Gateway, and Z= IP Network 

D. X = IP Network, Y = NAS Gateway, and Z = FC SAN 

Correct Answer: B 

 

QUESTION 3

What is an impact of a Denial-of-Service attack? 

A. Privileges are intentionally misused to compromise data security 

B. User\\'s credentials are eavesdropped by the attacker 

C. Computing resources are exhausted and made unavailable to users 

D. User\\'s accounts and data are compromised by malicious insiders 

Correct Answer: C 

 

QUESTION 4

DRAG DROP 

To authenticate a user using OpenID authentication control, what are the correct sequence of steps? 

Select and Place: 

Correct Answer: 
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QUESTION 5

Which management function involves configuring LUN masking to restrict hosts from accessing a specific LUN in a data
center environment? 

A. Performance Management 

B. Change Management 

C. Security Management 

D. Configuration Management 

Correct Answer: C 

Reference: https://sites.google.com/site/testwikiforfirstciscolab/shd/14-securing-the-storage-infrastructure 
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